AIRCHEREC (36 9 SRR

SF3FE4H27H

aJlEFERER Ad B &

é—\ﬂﬁ% '
‘ﬁi%%%:'ﬁﬁlﬁ%‘l’

| (REFRBAKA)
(RBEUIFRBETH T DEA)

SN2 E B TEENE IR DN HEFITONT

TS E R O AT B 4015 0 455 LEOFUEIC LY L 3o
L0 ATREE G ED RN REEE RN LET, | .



koS

SHEERBEHENIREE

Big {E % KR
1 XA
3,600,000
2 X
IBH FHEE(H) F =2 HDAR
HME W E & 80,000(iE B @B FERBGE
Wt & #
7R U T 1,594,988 | [RHRESFIR KX RO ERE MR E
HEEMESTEE
= = =1
T E R B |
T H B A B 108,246 | Fr M F A &
= ¥ B E 82,826‘_5’1':%?3}%%(??:’53‘)
< H EETE)— K. /N ek
® B = 650,67 hcr o (gt 504 (H5) e
A % = 1,093,800|FHEHS
&t 3,610,531
3 BENDE

A 105311




